
Kommagetal vermenigvuldigen met 10, 100 of 1.000 [1]

Oefening 1

1. 4,19 × 100 =   

2. 4,37 × 1.000 =   

3. 5,33 × 10 =   

4. 2,42 × 1.000 =   

5. 5,48 × 10 =   

6. 2,92 × 10 =   

7. 9,32 × 1.000 =   

8. 6,56 × 1.000 =   

9. 5,25 × 10 =   

10. 3,90 × 10 =   

Oefening 2

1. 8,58 × 10 =   

2. 4,70 × 100 =   

3. 5,25 × 100 =   

4. 8,97 × 100 =   

5. 9,14 × 1.000 =   

6. 8,31 × 10 =   

7. 4,83 × 100 =   

8. 1,69 × 1.000 =   

9. 1,29 × 100 =   

10. 2,13 × 10 =   

Oefening 3

1. 8,86 × 100 =   

2. 7,77 × 1.000 =   

3. 4,66 × 10 =   

4. 4,36 × 10 =   

5. 7,13 × 10 =   

6. 5,23 × 1.000 =   

7. 7,58 × 1.000 =   

8. 2,78 × 10 =   

9. 8,55 × 10 =   

10. 5,59 × 1.000 =   

Oefening 4

1. 5,69 × 10 =   

2. 5,81 × 1.000 =   

3. 2,48 × 1.000 =   

4. 6,57 × 100 =   

5. 6,32 × 100 =   

6. 5,84 × 10 =   

7. 8,88 × 10 =   

8. 8,74 × 100 =   

9. 5,44 × 10 =   

10. 5,78 × 1.000 =   
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Kommagetal vermenigvuldigen met 10, 100 of 1.000
[1] | ANTWOORDEN

Oefening 1

1. 4,19 × 100 =  419

2. 4,37 × 1.000 =  4.370

3. 5,33 × 10 =  53,3

4. 2,42 × 1.000 =  2.420

5. 5,48 × 10 =  54,8

6. 2,92 × 10 =  29,2

7. 9,32 × 1.000 =  9.320

8. 6,56 × 1.000 =  6.560

9. 5,25 × 10 =  52,5

10. 3,90 × 10 =  39

Oefening 2

1. 8,58 × 10 =  85,8

2. 4,70 × 100 =  470

3. 5,25 × 100 =  525

4. 8,97 × 100 =  897

5. 9,14 × 1.000 =  9.140

6. 8,31 × 10 =  83,1

7. 4,83 × 100 =  483

8. 1,69 × 1.000 =  1.690

9. 1,29 × 100 =  129

10. 2,13 × 10 =  21,3

Oefening 3

1. 8,86 × 100 =  886

2. 7,77 × 1.000 =  7.770

3. 4,66 × 10 =  46,6

4. 4,36 × 10 =  43,6

5. 7,13 × 10 =  71,3

6. 5,23 × 1.000 =  5.230

7. 7,58 × 1.000 =  7.580

8. 2,78 × 10 =  27,8

9. 8,55 × 10 =  85,5

10. 5,59 × 1.000 =  5.590

Oefening 4

1. 5,69 × 10 =  56,9

2. 5,81 × 1.000 =  5.810

3. 2,48 × 1.000 =  2.480

4. 6,57 × 100 =  657

5. 6,32 × 100 =  632

6. 5,84 × 10 =  58,4

7. 8,88 × 10 =  88,8

8. 8,74 × 100 =  874

9. 5,44 × 10 =  54,4

10. 5,78 × 1.000 =  5.780
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